PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
29th July 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

How many times ‘A’ exceeds ‘0’ in the word '‘RATIONALIZATION’? / '"RATIONALIZATION’
g § A’ fra 0’ I e 72

Correct Answer :-1

2)
Question Stimulus :-

Study the following figure carefully and answer the question. The triangle represents
doctors. The circle represents players and the rectangle represents artists. /

BT M A AT DY 3R Y BT o1a1d <1 A7 STt o1 g=ifar 31 g« faenfeat w1 gxiiar @ iR smaa
HATH] DI SR 3

RN
S

27
22\%‘ / 8

How many doctors are neither players nor artists? / fra sl T @ ﬁ?ﬁﬁﬁ % AR B FAPR
&2

()



® None of these /Eﬁﬁaﬂﬁ Tl

Correct Answer :-None of these /378 § &5 g1

3)
Question Stimulus :-

Which Indian won the IBSF World Snooker Championship in 20157 / 2015 H 3TSa1CHUW {3y &= a1
DI fora URT = SiaT a1

® Pankaj Advani/ U&dl TSATUI
® Subhash Agarwal / JHTY 3TRATA

® Manan Chandra / 9 T

® Brijesh Damani / foror=r gaT

Correct Answer :-Pankaj Advani / U&el STSATUN

4)
Question Stimulus :-

is India’s first dedicated space observatory launched by ISRO. / m gIxT ilTEj\ﬁ T URd &t ugat
waffa safer Jemre e

e ASTROSAT / TRe

® CARTOSAT / PICi¥e

° ChandrayanI/WI
® Chandrayan 11 / <sdr 11

Correct Answer :-ASTROSAT / TRIAC

5)
Question Stimulus :-

The capital of Meghalaya is / YT I IS %:
e Shillong / FRIART

® |mphal / SEPTA
. Aizawl/m

©)



® Guwahati / TaTgTel

Correct Answer :-shillong / R

6)
Question Stimulus :-

Pick the INCORRECT pair / 7T@d SIST UgdI-1¢
® Hill top fort - Gwalior / f%?l' 3T IS - TarferR
® Moti Mahal - Gwalior / il Hed — TarferaR
® Sheesh Mahal - Gwalior / e e - arfaaR
® Peshsari Dam - Gwalior / URHR! §iY — IR

Correct Answer :=-Sheesh Mahal - Gwalior / 2RI A — 1AIfelAR

7)

Question Stimulus :-

To encourage tourism, Punjab Tourism organizes FAM tour, the full form of which is J ed &l '&ﬁ?\‘lﬂ%ﬁ mﬁ%

forg, UeiTe wie "TrTH” X &1 SIS el 3, SHAT QUi g |
® Famous tour / TRTS a%
e Familiarization tour / URTT ¥
® Family tour / TRaR R
® Fabulous tour / AER GI¥

Correct Answer :-Familiarization tour / U< Gl

8)

Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the

following / &I &g SMYR T ST TG §| 9 & ¥ 99 W<l &1 T I1d DI

Supervisor : Worker :: / mf&w : PHAR ::
® Junior : Senior / $I?Tg : aﬁg
® Superior : inferior / 9 : L3

(4)



® Officer:Clerk / SfUPRY : FD
® Debtor : Creditor / UL : HIgPIR

Correct Answer :-Officer : Clerk / 3P : oD

9)

Question Stimulus :-

‘Who amongst these cricketers is the only Indian to have scored a triple century in test cricket? / ﬁl’Hﬁ' I

YR fppe’] & ot Pad T 3 23 fhore o fForesT Tae a=mn &2

« Sunil Gavaskar / gd TGEH
® Virender Sehwag / dN% AgarT

® Mahinder Singh Dhoni / q’%@ﬁl’é’ N

® Ravi Shastri / 3fd XML

Correct Answer :-Virender Sehwag / G8% HgaTT

10)
Question Stimulus :-

Who wrote the Natyashastra?/ \ITcd R fou faam?
® Bharata / Hd
* Kalidasa / BTG
® Chanakya / 9IUTR]
® Vyas/ MY

Correct Answer :-Bharata/ HU3d

11)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given

below: /ﬁﬁWﬁ,ﬁﬁﬁE@ﬁﬁﬁQﬂﬁm

okt Dl

All pigs have four legs. / T4 g3l & IR W g4 1

(®)



e If it has four legs, it is a pig. /u%w%?wﬁv%,?ﬁaswgm%l

e If itis a pig, it has four legs. / af¢ T8 TH Y3R &, @ ITP IR W |

® Only pigs have four legs. /W'{Mﬁ%ﬂﬂﬁ?@%%’l

e Some pigs have no legs. / $ 3Rl & I 71 gid|
Correct Answer :-If it is a pig, it has four legs. /?T%‘TS'WQGR%, o ITP IR W BT |
12)

Question Stimulus :-

The Daly College in Indore was established with its present name in the year ./ CL | ga?' & Soit

PIAS DI TP gaHTT ATH A WG fooaT T o1

® 1870

® 1882

® 1876

® 1885
Correct Answer :-1882
13)

Question Stimulus :-

Who was the first Indian Governor — General of Independent India? / Tda HIRd F YU URAT SR - TR
DI A2

® Sardar Vallabhai Patel / 3G} W‘H‘Lﬂé ued
® C. Rajagopalachari / Tt IEAYTAERT

* Sarojini Naidu / TR 1S

 Jawaharlal Nehru / STdTeR @A A<

Correct Answer :-C. Rajagopalachari / |I. ITSUTATARY

14)
Question Stimulus :-

A, B, C, D, E and F are cousins, No two cousins are of the same age, but all have birthdays
on the same date. The youngest is 17 years old and the oldest E is 22. F is somewhere

(6)



between B and D in age. A is older than B. Cis olderthan D. / A, B, C, D,
HI5 Nt ) TN HISh B IR vH GHE L B, g et & o R A ava e A 1 SR F g 17 @R
TSEDI G222l FHIAYBARD FAAGI A, BIATSIEIC, DA TITRI

Which of the following must be true if C is 19 years old? / 9 # § S99 1 9« & g1 91T,
3R C B 39 19 I g2

L Ai519yearsold&DisZi/AlQl‘ﬂﬁﬁ%&D21

° Bileyearsold&AisZO/BIQWW%&AZO

* Bis20yearsold & Ais 21 / B 20 Ud $T8 & A 21

L Di517yearsold&Bi521/D17W$r§&321
Correct Answer :-B is 20 years old & Ais 21 / B 20 9@ BT &A 21
15)

Question Stimulus :-

If nuclear weapon means hallucinations, and it’'s not a nuclear weapon, then it’'s

hallucinating. / 9f¢ TRH] 3R &T Aaas AfdYH &, 3R I8 TP WAV SRR 781 §, d@f a8 afauw 21
* True / gl
e False / Tdd
e Maybe / 8 9%l 8
e Irrelevant / 3MRIfiI®

Correct Answer :-Maybe / 8 9&dl §

16)

Question Stimulus :-

Keshab Chandra Sen formed the / m?l"_s{ I A o4 fpar ur
® Indian Reform Association / Eﬁc'ﬁl:l ﬁﬁ@mﬁ
® Satyashodak Samaj / TS FHTS
® Arya Samaj / 3 FHTS

® Veda Samaj /a?{ HHTST

(7)



Correct Answer :-Indian Reform Association / 3’%‘&? Wﬁ‘!’\‘ﬁﬁw

17)

Question Stimulus :-

M+N means M is the daughter of N, MXN means M is the son of N and M-N means M is the
wife of N. / M+N &1 Uqad 8 M, N &1 3¢t 8, MxN &1 Udad & M, N &1 T8 &1 Jdad 8 SR X, Y Bt

el g1
If X-YxP-Q, which of the following is NOT true? / af¢ X-YxP-Q 8, di Fg § 4 #l9 W 9 =81

&?

® Yisthe daughter of P /Y, p?ﬁ%’&%

® Pisthe wifeof Q/P, QB UAI§

® (Qisthe husbandof P/ Q, PTJI’TI'tIﬁ'%

® XisthewifeofY/X, Y 'Ffﬂ"qa:f%
Correct Answer :-v is the daughter of P/ Y, PP 91 &
18)

Question Stimulus :-

When was the Kalidas award instituted? / BTG YRIDPIR DI B9 TR fHar T 912
® 1986-87
® 1987-88
® 1980-81
* 1992-93

Correct Answer :-1980-81

19)

Question Stimulus :-

How many letters are placed exactly between two numbers in the following sequence? /

o ergw ¥ fpa U a1er § Sl of Tl & die 9w § fRya g2
L>2G7I6TH*3P9?#5YH%Y4&7B8<6$E&Z*K6S(R7WAT13N5@5+?Q
° 4
¢ 3
(8)



« 2
e 5
Correct Answer :-5
20)
Question Stimulus :-
Who introduces the system of subsidiary alliance? / HgIAP T uAr Y foeaa uRy fpar ur?
® Robert Clive /TS FATS
® Dupleix / E@W
¢ Lord Wellesley /F‘Iﬁaﬁﬁ
® Lord Minto /ﬁﬁﬁl?’f
Correct Answer :-Lord Wellesley / @IS daiea
21)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

FrafifEd uy & e arde w9 & W) g w3 3R 39 91¢ 9 iy v e A @ s suge
STHH BT ITT BY:

1. Rainbow 2. Rain 3. Sun 4. Happy 5. Child /
1. 35999 2.99 3. 94 4.9y 5.9l

e 2,1,4,3,5

e 2,3,1,54

e 4,2,3,51

e 4,5,1,2,3
Correct Answer :-2,3,1,5,4
22)
Question Stimulus :-

Who presides over the joint sessions of the Parliament? / DI TAG P YT O P AEAT BT %?

©)



® The Speaker / dol

® The President / Tl'gqﬁf

® The Vice-President / G'Cf-?'l'gqﬁ

® The Prime Minister / TTTHAT
Correct Answer :-The Speaker / dodl

23)

Question Stimulus :-

Where is the Security Paper Mills located in Madhya Pradesh? / H&I D%QT i | uﬁ’f'{ﬁl DTS PIRETHT ﬁ"f £3G)

82
® Hoshangabad / @W
® pDewas/ ail'l'\‘f
® Gwalior / arfera’
® Dhar/ YR

Correct Answer :-Hoshangabad / BIZRITSIG

24)

Question Stimulus :-

Barasingha is a type of / SRERYl Th UHR BT gl

® Mouse / gl
 Elephant / 8T
® Deer / %TUT
® Lion / R
Correct Answer :-Deer / TR0

25)

Question Stimulus :-

From amongst six boys A,B,C,D,E and F and five girls P,Q,R,S and T, a team of six is_to be

dS®HI A,B,C,D,E 3R FH ¥ 3R Uiy asfepal

selected under the following conditions: / 3: 4

P,Q,R,S 3R T & q, ©: &1 & &¥ &1 Ay zrdl W =au far o @

(10)



A and D have to be together / A 3R D I1Y § 384 1T

B can’t be teamed with E / B & & E & H1Y 78! g1 Pl

C and Q have to be together / C 3R Q ¥4 ¥ g1 =T

D can’t go with P / P & 91} D g1 oIl 9&dl

Ccan’'tgo with S / S & T4 C gl oIl aval

B and R have to be together / B 3fR R 914 ® g1 I1fe¥

S and T have to be together / S 3R T ¥4 # g4 12T

If there are five boys in the team, the only girl member is: / 3R 981 19 # U™ ﬁ?ﬁ? %', al

TPl ASH! HeH B

e P

Correct Answer :-Q

26)
Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face

opposite to the face shown at the right? / af¢ IrfY 3R WR P I ¥ B WA H & T Bics
o wiran 8, @t A el 3 @ 719 9 e ¥ v il ok R’ T vae & anda 82

Q
W W

(11)



Correct Answer :-

27)
Question Stimulus :-

Highest wartime gallantry award in India__ ./ HIRd A 99 g Y& BT CIEGI RTPR %I
® Maha Vir Chakra /'ﬂ?'lﬂﬁ'\r R I%
® Vir Chakra/dRR T
® Param Vir Chakra / IRH 41X TP
® Kirti Chakra / ®Ifc a5

Correct Answer :-Param Vir Chakra / TRH dIR b

28)
Question Stimulus :-

What is the name of the administrative state secretariat located in Bhopal? / yiurer # e w=mae Isa
TRrarerg &1 919 H®IT 82

® Raj Bhavan / ITSIHTT

® Vallabh Bhavan / dediy HdH

® Chayan Bhavan / J9- Hd-

® Gandhi Bhavan / RG]
Correct Answer :-Vallabh Bhavan / dcdH HdA
29)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe
g siad st e IR R s F A T :

(12)



If the flower is blue in colour, then it is not black in colour. / Afe Ba@ i &1 &1 8, @ 98 ®1A

[N HT 81 8l

e If the flower is not blue in colour, then it is black in colour. / af¢ Ba@ i &1 &1L g,
98 P T BT 2

e If the flower is not black in colour, then it is not blue in colour. / If¢ T& HTA VM HFTLI 8,
al 98 i 1 B1 7 B

e If the flower is black in colour, then it is not blue in colour. /ﬂﬁﬁfﬁ@ﬂ"ﬂﬁ%, AT
e @1 B A B

e None of the above / IWRIG g T8I

Correct Answer :-If the flower is black in colour, then it is not blue in colour. /‘Cr%%_crav‘lﬁ

[ BT E, dl 98 A1 3T ST T8 2

30)

Question Stimulus :-
Which of the following is NOT a statutory body? / 3‘—@[ ¥ P19 91 gifafye Fer H’é"f%’

® Election Commission / ferate ST

® Planning Commission / IS SATTRT

® Finance Commission / faRT 3MART

® Union Public Service Commission / ¥ @I JdT TANT
Correct Answer :=Planning Commission / TSI STRT
31)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 9 9% ®, 7gd o U5l & 9 [FA0 R | IS G99 8] 9 e & § o ug gHa
e W e F a1y S TSR $T J9Y g

ACE : HIL:: MOQ:?
® TVX
® TUX

® XVT

(13)



® SUW

Correct Answer :-Tux

32)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe qﬁrq
< 3T T Sy wd el  9v § 99 B

Statements: / $Y:

All cards are pens. / 9 TS ®aH &l

Some pens are pencils. / $ U9 IR@ §I
Conclusions: / f=p:

I. All cards are pencils. / 1. I o1 tfRe %'l

II. Some pens are cards. / II. $© U9 &S &1
® Only conclusion I follows / Fad e 1 Reaarn %
® Only conclusion II follows / *Had e 11 Fedan %
® Kither conclusion I or conclusion II follows / IT df fAewt 1 a1 fbe e 11 Rpear %
® Neither conclusion I nor conclusion II follows / =T I s 1 Fedar % Gﬁ? ) Eﬁ s 11

Correct Answer :-Only conclusion II follows / Had ey 11 Frpaar g

33)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fope ﬂﬁt{
it T 7T Y=l wd el & R & 98 R

Statements: / ®Y:

All beaches are beautiful / I 9% < Gz &
Colva is a beach / ﬁﬁT'\‘rﬂﬁ dac %
Conclusions: / fAemd:

I. Colva is beautiful / I. ®iedl o3 8

II. Parks are not beautiful / II. 32 T 781 &

® Only conclusion | follows / »ad ey 1 Readn %
(14)



® Only conclusion Il follows /W e 1 Reear %
® Both conclusion | and Il follows / a=ﬁ' fwpd 1 Gﬁ? II ﬁﬁﬁ %
e None of the conclusion I or II follows / f=d 1 a1 11 # & 1§ ¢ Feaar g

Correct Answer :-0nly conclusion | follows / Fae APy I fFrderar g

34)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg foee T;{ﬁ"‘{
i 3T e Sy ud fAhul & 9 § 98 7

Statements: / Y:

No river is sea / ®I5 4! ANR gl §

All seas are oceans / 94 Y% WeNHR &
Conclusions: / fAwd:

I. All rivers are oceans / I. 9%} Afeai ag@mR &
II. No river is ocean / II. ﬁ% 'TcﬁWHﬁ%

® Only conclusion I follows / ad frepY I fAwadr g

® Only conclusion Il follows / P st I NP &

® Both conclusion I.and Ii follows / Il fed I 3iR IT Fwad &

* None of the conclusion I or II follows / ¥ 1 a1 11 # @ &5 =& Feaar g

Correct Answer :=0nly conclusion Il follows / $ad ft®d 11 Aeear g

35)
Question Stimulus :-

A manufacturer has 3 products in his portfolio- A, B, C. They are manufactured in batches,
as the cost of changing from one product to another is quite high. A is can be produced at a
rate of 1000 units per month, B at a rate of 800 per month and C at 700 per month. Once a
product is taken up for manufacturing it will be continued for at least 2 months and a
product is manufactured only once (one batch) in a year. At a time only one product can be
manufactured. Products have to be manufactured before their respective demand season
starts. Product A demand always happens between January and May, B between April and
September and C between August and January. / & Ffafar s Raw gRId 3 3S@ag & - A, B, C |
3 o # AT g €, 7% T Swie H) R | Jea @1 anTd HTH! ST 81 A BT ufd 718 1000 sHISAT
P X A IAUIET [HIT &1 HPHdl g, B BT 800 FI &< F 3R C HT 700 THIZYI BI &3 § UG fhaT ST Fodl

(15)



21 TP 4R TP IcUIG $T AU IE 31 & 9i 98 $9 A $H 2 A & g I8} a1 w1 $ik v 3G &t
F9d TP IR (TP 9IQ) T g A [Afdfa foar S| ve 9w A Saa o Sare [fda fear s gean g1
IAE] Y ST! aftd AT F Uga & [Hifa forar ST a1 81 IS A $1 |iTT gU=N SiHas) 3R # & di"
Bidl €, B B AT 3fiel 3N% RideR & §F 3R € &1 AT 3MRA 3R sHast & 919 el 81

If the demand for A in a year is expected to be 3200, when should it be set up for

man;_lf%cqturing? / TF a8 I A $1 °FT 3200 ¥ B FI WS F Wkl 8, $9 g8 FHuivr & fore wifie fear
ST ?

® April/ araa

® August / 3T
® September / Rda=
® October / Sfadgdx

Correct Answer :-September / RIdaR

36)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / Ffouydag
W G PR S FIfal I ST 7|

e Cycle and Scooter / T3fHd 3R ez

e Rifle and Sword / IEHA T dedR
* Shirt and Tailor / FHIS 3R geif
¢ Tea and Coffee / T 3 HIBI

Correct Answer :-Shirt and Tailor / HHIW 3R gsil

37)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg foweu
g iah s AR e s F au= 8 -

“It is not true that both Michael and Ralph are teachers” / "dg 9™ T{ﬂ% f& o HigPpd 3R
Ion Rrew g1

e If Michagl is not a teacher, Ralph is not a teacher. /u%nmwﬁr&m T-I%’T%,WW
e T 1

e Michael is not a teacher or Ralph is not a teacher. / AP T &P T8I & AT 3w TP e
TE 81

(16)



e Ralph is not a teacher and Michael is not a teacher. /WW&T&W quﬁ% Gﬁ?ﬁmw
Rrere TE B

o If Ralph.is not a teacher, Michael is not a teacher. / uﬁ:%«wwﬁr&m T-Iﬁ%, HIghd Th
Rre T8 81

Correct Answer :-Michael is not a teacher or Ralph is not a teacher. / ATs®d U ReF T8I &
YT IeP TP e T8 2l

38)
Question Stimulus :-
I. There is a group of five persons A, B, C, D & E. / 1. Uid suf&idl A,B,C,D 3R E &1 T& I9g &l

II1. One of them a horticulturist, one is a physicist, one is a journalist, one is an industrialist
and one is an advocate. / II. 379 ¥ T I AU 8, TP Hifde Il §, TF TPR €, TP
IUNTUR § 3R T o id &1

II1. Three of them A, C and Advocate prefer tea to coffee and two of them B and the _
journalist prefer coffee to tea. / III. 98 ¥ dF, A,C 30X IPId BB F IoId T TS Hd & 3T

3, B 3R THPR I & I9Ig B! Ug HId gl

IV. The industrialist, D and A are friends of one another but two of these prefer coffee to

tea. / IV. SENTURA, D 3R A T ¥R & 1 § g 598 A &t I & 9 HIW} UHg Hd ¢l
V. The horticulturist is C’s brother. / V. 3T fa29g C &7 4TS g1

Who is a horticulturist? / S 92Uy $1H g2

Correct Answer :-A

39)
Question Stimulus :-

According to 2001 census the second most spoken language in India is / 2001 S TUFT & SR HIRd

A gt Fa f¥e Sl S arelt WTaT §

* Urdu/3g
® Telugu / aﬂ'{[

(17)



° Bengali/é’ﬂﬁ'ﬁ

® Tamil / affe
Correct Answer :-Bengali / STITel
40)

Question Stimulus :-

Which one of the following states was the first to introduce Panchayat Raj System? / eI 43 B A I
= A9 UG YAl IS AT Bt JF AT DI A2

e Uttar Pradesh / 3T Wa=T

® Haryana / 834U

® Madhya Pradesh / H o=l
® Rajasthan / ITSTRITA

Correct Answer :-Rajasthan / TSI

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

32/x = x/8, the x is what / 32/x = x/8, x ®T§
e 246
e 256
e 14
e 16
Correct Answer :-16
2)

Question Stimulus :-

In a certain code language MOTHER is coded. as LNSGDQ then in that language
GRANDSON is coded as: / f&dl W™ ®is 49T #, MOTHER &1 LNSGDQ d ®ifed fbar Sirar € ot 39
49T # GRANDSON &1 U ®ifed far wiar @

® FQZMCRNP

(18)



® FQZMCTNP

® FQBMCRNM

® FQZMCRNM
Correct Answer :-FQZMCRNM
3)

Question Stimulus :-
Hydrogen and oxygen are in the ratio 2:1 in water. How mych quantity of
oxygen is contained in 4SQIiters of water? / E‘I?{@IGH 3R o S # 2:1 F
3guTd § €1 450 iex od A SRS o e =1 82

e 155

e 160

e 140

e 150

Correct Answer :-150

4)
Question Stimulus :-

What is the loss percentage if an article costing Rs. 10 is sold for a loss of Rs. 2?7 / trl%aﬁs‘aﬁ 10 39T HI
ARTA 8 3R 9% 2 U3 & JH AN I 99 &l A1l 7, o ITBT1 g1 Ufa=ra 1 grm?

3| L | et

L | k2

e 14 ~ %%
* None of these / S7H d S 811

Correct Answer :-None of these / 394 J $I5 8l
5)

(19)



Question Stimulus :-

Three unbiased coins are tossed. What is the probability of not getting two heads? / 11 f=rsuaf Ryess e STd 81 2
¥ fore T8 oM & SHTaT T 2

e 5/8

e 3/8

e 1/2

e 3/4
Correct Answer :-5/8
6)

Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / N9 Uy ¥, 9@ 49T § TP US TAd 8| TAd UG I BIOH|

2,8,20,48,92,188
e 48
e 92
e 188
e 8
Correct Answer :-48
7)
Question Stimulus :-

Complete the series choosing the missing number: / fAgW TEAT TAHR STaT B TR HIOMTQ :

1,2,3,6,9,18,_____ , 54
e 18
e 27
e 36
48

(20)



Correct Answer :-27

8)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / & & T sRaer sieRl U HwTS BT IIHH WANT HR! 8| Tod Ao ygan=d|

(i) AW235698P914
(ii) AW235698P914
(iii) AW235698P914

(iv) AW235998P914

Correct Answer :-iv

9)
Question Stimulus :-

A and B can do a work in 30 days and 20 days respectively. They worked for 6 days together and B has left. How many
days will A take to finish the remaining work? / A 3R B Th hH & PHI: 30 ﬁ? 3R 20 ﬁT-ﬁ ] ORI PR Jbd
g 1 3811 6 oY o a1y ® & fHar 3R B BIs = TAT T A 9T §3T HH TRT HA | fba-1 Gug am?

* 12days / 12 o=
* 18 days / 18 T
e 20 days / 20 &=
* 15days / 15 fe=
Correct Answer :-15 days / 15 f&=

10)

Question Stimulus :-

(21)



The catalogue price of pair of school uniform is Rs. 180.If its price is Rs. 153 after discount. What is rate

of discount? /| ¥ d Tal D1 SISl BI YAl PIAT T 180 §, THD! BT Y & dI¢ 153 U g1 e DI G FT 8?2
° 20%
e 25%
* 15%
° 10%
Correct Answer :-15%

11)
Question Stimulus :-

In a certain code language, Have sweet dreams means eva sota doma, Sugar is sweet
means dugre ona doma. Which is the word for sweet in that code language? / it @ wis
YT 'Ef, Have sweet dreams &1 Hddd % eva sota doma, Sugar is sweet BT Hddd % dugre ona

doma. I PIE U A sweet F o8 T T 82

® eva

® sota

® ona

® doma
Correct Answer :-doma
12)

Question Stimulus :-

A man covered a certain distance at same speed. Had he moved 3 km / hr faster, he would have taken 40 minutes less.
If he had moved 2 km / hr slower, he would have taken 40 minutes more. The distance is/ T G-I'IETﬁ Th ﬁ nfa |
@ A3 gt a9 owar 81 afe ag 3 foetftaer &t a1 nifa & 9« 9@ 8, a1 STt 40 Re sa @i afe @t
2 it ot diedt wifer & gerar 8, 91 S 40 e st @it 1 g ©

* 35km/ 35 fepdt

e 38 km/ 38 fopdt

* 40 km/ 40 Torit

e 42 km/ 42 Tt

(22)



Correct Answer :-40 km/ 40 T

13)
Question Stimulus :-

How many different eleven letter words can be formed using the letters of the word ‘MISSISSIPPI’ if repetition is not
allowed? / IS TRIGIA SRIG T8I 8, TG ‘MISSISSIPPI’ TS &P 3(&RT BT WINT PP WRE 3R & fraq v
G § TP &2
® 34650
® 69300
® 138600
® 17325
Correct Answer :-34650
14)
Question Stimulus :-
Complete the series choosing the missing number: / AW I TAHR ST BT RT PIOT :

2,511,  ,47
e 23
e 22
e 21
e 20
Correct Answer :-23

15)
Question Stimulus :-

In the sequence shown below, which figure comes next? / <9 fRER & H9 ¥ [Tl MH
S At gift?

ole] | ol Yol &00 200
OO0 (ole! | OP0 @00
D00 Q0 (18] ol 1%

(23)



Co0
oo0
*TO

olele.
Oo0
o0

Correct Answer :-

16)
Question Stimulus :-

The average of 8 nhumbers is 42. What will be the average if each number is decreased by

5? / 8 HEIAl &7 3T 42 7| IS TAS WM B 5 § ver faar o, @ oftwa war ghm?
e 37
e 39
e 40
e« 35
Correct Answer :-37
17)
Question Stimulus :-

3

After going + th of my journey, I find that I have covered 16 km. How much journey is
E)

still left? / AR AET ST + aF7 PR & a7€, HY urn b 6 16 it w1 = R et off fRraeit g Tt
(24)



laa| — | — | — | —

Correct Answer :-5

18)

Question Stimulus :-

In a certain code language, Hold the line means hode fen ge, Pass the message means fen
mesta goka, Draw a line means hode waj diba. Which is the word for hold in that code
language? / {53 @ FIs UMW #, Hold the line &1 Wdad § hode fen ge, Pass the message &1

Hdod & fen mesta goka, Draw a line ®T Hadd @ hode waj diba | 33 B8 HINT & hold & fare «am
TS 82

® hode

® fen

° ge

® diba
Correct Answer :-ge
19)

Question Stimulus :-

The length of the rectangle is increased by 50%. By what % would the width have to be decreased so as to maintain the

same area?/ U 3TAd $I TS Bl 50% ¢l f&a1 a1 21 St 9% &l 991 1T & fow Dere ot
fFaq % ger=r gRm?

1
* 333%

(25)



® 333%

1
* 33%

L
® 33<%

2

Correct Answer :-333%

20)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁ 3I&R AP YTl Ca| T PIFIT ¢ _acca _ ccca _accee _

aaa
® acca
® caaa
® ccaa
® caac
Correct Answer :-caaa
21)

Question Stimulus :-

In a certain code ‘WATER’is coded as ‘XBUFS’ then in that code ‘ATLANTIC’ is coded as: / fordt @ aﬁs ﬁ:, ‘WATER’

B ‘XBUFS’ § PITSd [HaT SITdT §, d ST HIS A ATLANTIC’ BT T HIfSq fpar s

®* BUMBMUID
®* BUMBOUID
®* BUMBOUHD
® BUMBOVID

Correct Answer :-BUMBOUID

22)
Question Stimulus :-

Three unbiased coins are tossed. What is the probability of getting at least two heads? / ?ﬁqﬁ'ﬁq’&[ﬁlﬁﬁﬁﬁ
21 Y B9 2 & I 3M &1 JUTaHT 1 82
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e 1/4
e 1/8
e 1/2
e 3/4
Correct Answer :-1/2

23)
Question Stimulus :-

(96/6)x3+(3x7)/21-(50/10)x8=?
e 6
e 9
e 12
e 15
Correct Answer :-9

24)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / g &Wﬁf & 91 & o
<AaH I A fpan W yarsi it smazawr gii?

11
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Correct Answer :-11

25)
Question Stimulus :-

In a certain code language, Talk to me means Tu Nam Pit, Give me that means Su Ram
Nam, Give to him means Pi Tu Su. Which is the word for Talk in that code language? / o<t
WY $I€ YT §, Talk to me P1 Hdad & Tu Nam Pit, Give me that &1 Hdad & Su Ram Nam, Give
to him &1 HAdd § Pi Tu Su| I ®I8 U H Talk & T o1 Teg 82

® Tu
® Nam
* Pit
® Su

Correct Answer :-Pit

26)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ P A M aR vdl § & 9 RA A 1 & S T9H S °1 T T8 82

Prof. Carlo Francis Xavier
Escuela Rural 45
X5187XAB San Clemente

ARGENTINA

(i) Prof. Carlo Francis Xavier
Escuela Rural 45
X5187XAB San Clemente

ARGENTINA

(ii) Prof. Carlo Francis Xavier
Escuela Rural 45

X5187XAB San Clemente
(28)



ARGENTINA

(iii) Prof. Carlo Francis Xavier
Escuela Rural 45
X5187ZAB San Clemente

ARGENTINA

(iv) Prof. Carlo Francis Xavier
Escuela Rural 45
X5187XAB San Clemente

ARGENTINA

Correct Answer :-iii

27)

Question Stimulus :-

A car travels first 100 km at 60 km / hr and the next 100 km at 50 km/hr. The average speed of 200 kms is/ Th HIX

ugd 100 frft Bt g8t 60 fFel/ 9 Ft i A T FedT 7 3R 3T 100 Fomeft 1 &t 50 ey R Fr o AT

P 21 200 FpHT S 3fiya nifa Rt |
® 54.54 km/hr / 54.54 TpH1/deT
® 55km/hr /55 fHI/deT

e 54km/ hr/ 54 fEHI/Aer

® None of these/ Ezl'ﬁ 3} Elﬂ_sf :lﬁ

Correct Answer :-55 km/hr / 55 fHI /AT

28)

Question Stimulus :-
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Complete the series choosing the missing letter/s: / ﬁﬂ"ﬁ SER gIdh yadr oI QA ﬁ%rq V: z; _baa _ ;ab _a_
® aabb
® aaba
® abab
® baab

Correct Answer :=abab

29)
Question Stimulus :-

100 boys and 80 girls are examined in a test, 48% of the boys and 30 % of girls pass. The percentage of the total who
failed is/ 100 TSHI 3R 80 TSTHUT oI TP U401 F Ufvan ot A, 48% TSH 3R 30 % ASTHal
Sl 21 &1 g argeiof @19 aral it wiesmee g

® 70%

® 60%

® 55%

® 65%
Correct Answer :-60%
30)

Question Stimulus :-

If 764A x B23 = 1C05504

Where A, B and C are representing different numerals; find A. / e 764A x B23 = 1C05504 STgi A, B 3R C
faft Twri® €; 99 A AP

« 6
. 4
. 8
¢ 5

Correct Answer :-8
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Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Following table shows the military expenditure of some countries, in millions of US Dollars
and as percentage of GDP. Answer the following questions using the information provided.
/ R & o ot v 3= &, At smiRe sier o ok I d g S & ufawa A, 9 T B
R 81 & T e &

Countries { &aT Military Expenditure / ¥¢a @
Percentage of GDP/
USD (Millions)/ USD | ¥ehel BYe] 3¢ &
(o) sfetaret
China / g 67,490 4.30
Cuba [ Faar 872 1.80
Egypt /THH 2440 3.40
France / wi@ 45238 2.60
Germany / FH=T 35,063 1.50
India / TR 18.860 2.93
Jordan /@Ew 1,460 14.60
NewZealand/=rsiets 1,147 1.00
Pakistan f Iriehd=T 3,848 490
Qatar f ot 723 10.00
Zimbabwe ffetraEs 217 4.30

YR TR U4 & I S|

What is the difference in the GDPs of New Zealand and Jordan? / ?Fﬂ'a_b' 3R SieT & gHd 'Eﬁ'g JaTe | T 3R

22
® 1470 US million Dollars / 1470 @RG 3HID] STAR
® 14700 US million Dollars / 14700 ¥R 3P SIeR

® 104700 US million Dollars / 104700 TRT HIPI STaAR
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® 124700 US million Dollars / 124700 ARG HIIHI STelR
Correct Answer :-104700 US million Dollars / 104700 ARG 3H3IIH] ek
2)
Question Stimulus :-

What happens to the Glucose absorbed by small intestine and transported to the cells by blood? / &jﬁ"ﬁ QIR

AN 3R T GRT HHRABTSN & RITFATANT TIBIT BT FT FIIT?
e Helps in body building / IR fHwtor & Tgraar s
e Gives immunity / JTUEHAT UG B
 Broken into CO2 and release energy / CO2 ¥ ge ST 3R it IcAfoid B
 Excreted out / STgX S&foid g1

Correct Answer :-Broken into CO2 and release energy / CO2 ¥ g SITTT 3R FHoll Seqford
G}

3)
Question Stimulus :-

A pair of linear equations is said to have no solutions, when both the lines representing the linear equations

./ TP Y&Ig IHieR0 & T § IS g T8} U ST, o9 Y& GHiBR0T g1 8T ST 3@
® intersect at one point / wﬁgwuﬁ'@am‘cﬁ%

® are parallel to one another / Th W F JHIGR Bdl &

® are co-incident / HUTHT Bidt g

® are perpendicular to one another / Th §'\‘I:§' ¥ @d Bl @
Correct Answer :-are parallel to one another / T®% gaX & THidR gidl &
4)

Question Stimulus :-

Anil bought a T V with 25% discount on the labeled price. Had he bought it with 40%
discount, he would have saved Rs. 1500. At what price did he buy the T V? / 3F@ 3 &

coifae Sifdd oo | 25% [e W Wil fg 3T 59 40% Fe W WIGT TidT df a8 1500 $UT Bt g9d
PR UTaT| 39 5T gea W difae wdier ur?

* 10,000
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® 16,000
® 12,000
® 19,000
Correct Answer :-10,000
5)
Question Stimulus :-

By what factor, the destructive energy of an earthquake showing a magnltude 7 on the
Richter scale is greater than one showing a magnitude of 3? / T&% Y&UJ $I fATRIGRY ot ot
Rz tuM wR 7 gk g=iidt 8 5=l o y@u St <t fp 3 ufvmmor awifch @ 9 fram qom @ ot &2

e 4

e 1000

* 4000

e 1000000
Correct Answer :-1000000
6)
Question Stimulus :-

Mention the cause of diarrhea / 3IfdUR &1 $RUI Fa5¢
* Infection / HshHTI
e Food poisoning / fauTea yie=
¢ Indigestion / 3Ud
e All of the above / JURtad Tt
Correct Answer :-All of the above / SURIad qH
7)
Question Stimulus :-

Following table shows the military expenditure of some countries, in millions of US Dollars

and as percentage of GDP. Answer the followmg uestions using the information provided.

/ T & Tt @it o o &, e smfvet ;lﬁTW WY SIS & Ufawa §, 99 T P
fRardt 81 & T SHeR &
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Countries / ZaT Military Expenditure / §v @
Percentage of GDP/
USD (Millions)/ USD | ¥dhel a¥e], 3¢U1G &
GIEED gicrard
China / ==t 67.490 4.30
Cuba [ sFar 572 1.80
Egypt /THa 2,440 3.40
France ! w& 45238 2.60
Germany / ST 35,063 1.50
India / sTRE 18.860 2.93
Jordan /aée 1,460 14.60
NewZe aland/=Tgfels 1,147 1.00
Pakistan / 9TiehEdrer 3,848 4.30
Qatar f =g 723 10.00
Zimbabwe /faFaes 217 4.30
YR TR U4l & IW S|

Which of these countries has the highest GDP in US Dollars according to the data provided above? / 3 UY SUd e HIT T

el F IFIAR ARDT STeR & 57 AW &1 TaA el IS d U¥g Sle 8?2

® France /Wi
° Germany/\_rlﬁT-ﬂ
® |ndia/ YHRd

® China /?ﬁT-I

Correct Answer :-Germany / STHAI

8)

Question Stimulus :-

(34)



Following table shows the military expenditure of some countries, in millions of US Dollars
and as percentage of GDP. Answer the followmg ;ﬁ?estlons using the information provided.

/ R § i arfereT oo 4= &, MRk st THd U IcIg & Fiazd §, =0 T &1

et 31 & i SFeTs &
Countries / &ar Military Expenditure / ST T=J
Percentage of GDP/
USD (Millions)/ USD | ¥dhel a¥e] 3cUG &
GIECD) qfcerd
China / It 67,4390 4.30
Cuba / Far 572 1.80
Eqypt /THg 2.440 3.40
France / wi@ 45,238 2.60
Germany / SE=T 35,063 1.50
India / #TRE 18,860 2.93
Jordan faee 1,460 14.60
NewZe aland/=gies 1,147 1.00
Pakistan / 9TiehEdt= 3,848 4.30
Qatar f ot 723 10.00
Zimbabwe /feaEa 217 4.30

YR TR Ut & I 21

Which of the above countries’ military expenditure is closest to the average expenditure of all of the above countries taken

%)gether?/ fou v A= & A 5 3w &1 =9 @ 9 ST B Y F A7 W TP NGd T P ATHT SRR
?

® France /Wi
L Germany/\_rlﬁT-ﬂ
® India / HRd

® Pakistan / UTforea=
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Correct Answer :-india / HRd

9)
Question Stimulus :-

Two tangents TP and TQ are drawn from an external point T with centre O. If they are
inclined to each other at an angle 1259, then what is the value of tfPOQ? /O Fg 9 qd &

T g T @ 39 9d R & W=i Y@ TP 9 TQ RN ot 81 afe 34 wuf Yt v gk W 1250 FT HI0r
§1d §T FH1 58 © af £ POQ T T AM 772
e 550
e 110°
e 62.5°
e 125°
Correct Answer :-55°
10)

Question Stimulus :-

Following table shows the military expenditure of some countries, in millions of US Dollars
and as percentage of GDP. Answer the followmg ‘sqﬁ?estlons using the information provided.

/ = § T aifereT $o o= &, i smfket Hd T IS & Ufa=d |, I T B1
femrt 31 & T SHeRt %
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Countries / ZaT Military Expenditure / §v @
Percentage of GDP/
USD (Millions)/ USD | ¥dhel a¥e], 3¢U1G &
(e wfcrere

China / ==t 67.490 4.30
Cuba [ sFar 572 1.80
Egypt /THa 2,440 3.40
France ! w& 45238 2.60
Germany / ST 35,063 1.50
India / sTRE 18.860 2.93
Jordan /aée 1,460 14.60
NewZe aland/=Tgfels 1,147 1.00
Pakistan / 9TiehEdrer 3,848 4.30
Qatar / T 723 10.00
Zimbabwe /faFaes 217 4.30

YR TR Ul & I 2|

What is the difference in the GDPs of Jordan and Qatar? / CICL| Gﬁ?{ HCR & ghd ‘Eﬁﬁ JdlgH H T 3R %?
« 737 US million Dollars / 737 fafera= smtet Siar
® 460 US million Dollars /460 f¥fra ST SiaR
® 2770 US million Dollars / 2770 fifera smsi®! SieR
® 5260 US million Dollars / 5260 = smRi®t STeR
Correct Answer :-2770 US million Dollars / 2770 fifera= smiet SteR

11)

Question Stimulus :-

Some bananas are packed into a box in stacks. Each stack has the same number of bananas in each row as the number
of rows. The number of stacks is also the same as the number of rows. If there are 64 stacks of bananas in the box, the

(37)



total number of bananas in the box is / Wﬁﬁ@ﬁﬁ%ﬁﬁaﬁ?%l TS &
B TP Ufdd & Hal &1 TSI Ia1 & fora-1 uferrdl 31 H@I 71 & o1 den W dfekd 91 dem & a9 8
21 Ok T H FA & 64 W T, Al T H A B $A IBAT gl

* 262144

® 261462

e 262148

* 262164
Correct Answer :-262144
12)

Question Stimulus :-

Birds & fishes have to move in fluids all the time. So their bodies have evolved to shape that would make
them / URSRH Td ASfRMAI ®1 Aea od | Tga- BT USdl ¢ | TAIY ITHT INR FT APR 59 @18 fAbRe
o @t

® Lose less energy to overcome friction / T9UT U Wqﬁ ¥ forg &0 3wt @'ﬁ

® Lose more energy to overcome friction /T R ?ﬂ@qﬁ & ferg siftre ot @'ﬁf

® Maximize friction & lose energy /‘EI'EfUT ¥ aiftrrad q@ HY Td ©H eIt "@ﬁﬁ

® Minimize friction & lose energy /El'ET'UT = gAdH q@ Y Td $H It @ﬁ
Correct Answer :-Lose less energy to overcome friction / o g Wﬂﬁ ¥ forw w9 Iuit @t}
13)

Question Stimulus :-

A marble tile would feel cold as compared to a wooden tile because the marble tile / TTHRHR BT TP CI5dl aﬁ
B eT5A B gaT § ST ST HggH gaT 3, TP IR esa

® Is a better conductor of heat than the wooden tile / aﬁ Gl GES] @t LKL H ST P é??r\r EIGED %
® s polished while wooden tile is not / WY fpaT g3 8 Safe aHs B erga Tl
® Reflects more heat than wooden tile /m I HEL) T 3rftrp SHoAT WRTafdd HdT %

® |s a poorer conductor of heat. / SHOHT BT 3Ifes ﬁq ElIGED %l

Correct Answer :-is a better conductor of heat than the wooden tile / HSI B CT5A BI qa-n H ST BT

IR 9P &
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14)
Question Stimulus :-

The Safety matches, used in all our houses, has chemicals in it. The head of a Safety match stick contains / ETIﬁ'

W § U Al § T I g 81 AT @t <l & RR ¥ siafdy g @
* Antimony trisulphide & Potassium chlorate / T TR PSS UF UICREA ke
® Antimony trisulphide, Potassium chlorate & white phosphorus / eI SIS TPBIS S, Ui RITH FART
T4 9hg BIwRa
e Antimony trisulphide & Sulphur / T TIPS S TT T
e Potassium chlorate & white phosphorus / efRrw m@ e BIEpRT

Correct Answer :-Antimony trisulphide & Potassium chlorate / 'Q?ﬁ'q:ﬂ' gréﬂwrsg Td TRy

15)
Question Stimulus :-

Find the minimum value for 10 cos20 + 5 sin20, if O is an acute angle. / af¢ 8 TH <A BT §
9 10 cos20 + 5 sin20 HT gAdH TN J1d Y|

° 1

Correct Answer :-5

16)
Question Stimulus :-

Following table shows the military expenditure of some countries, in millions of US Dollars
and as percentage of GDP. Answer the followmg ;h?estlons using the information provided.

/ T & T aifere oo 3= &, Pt sriRe) Sfer o oMk I e Wi IdTg & ufawa §, =0 T 3
Rard 31 & T SFe™t &
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Countries / ZaT Military Expenditure / §v @
Percentage of GDP/
USD (Millions)/ USD | ¥dhel a¥e], 3¢U1G &
GIEED gicrard
China / ==t 67.490 4.30
Cuba [ sFar 572 1.80
Egypt /THa 2,440 3.40
France ! w& 45238 2.60
Germany / ST 35,063 1.50
India / sTRE 18.860 2.93
Jordan /aée 1,460 14.60
NewZe aland/=Tgfels 1,147 1.00
Pakistan / 9TiehEdrer 3,848 4.30
Qatar f =g 723 10.00
Zimbabwe /faFaes 217 4.30

3MYR TR U4 & I 1

Which of these countries has the lowest GDP in US Dollars according to the data provided above? / 3 UY SUA® HIATY

T 3fiPps! & AR ARDT STk A [T S HT TaA $H TP d I¥g SAIGH 82

* Zimbabwe / foTaTsa
e Qatar / P}

® Cuba /&4l
® Jordan /GI"I%T-[

Correct Answer :-Zimbabwe / R

17)

Question Stimulus :-
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Two examples of Hermaphrodites are /EWTﬂﬁ?:'IB‘dH & &l ISIEI %
e Amoeba & Hydra / 3rfiar sk smar
 Earthworm & Leech / $g3fl 3R Wi
* Cockroach & Mosquito / faeragT IR 7=
®* Frog & Fish / HS® 3T ADd!
Correct Answer :-Earthworm & Leech / ¥gaii 3R Si®
18)

Question Stimulus :-

Choose the major events during Inspiration ARE LR & T.aTF'T g9 AT Pl ﬂﬁfﬂ{

e Diaphragm flattens, Ribs rise up,Lungs expand / S JUC g WA €, Tl HUR Iodl
g, s ba o &

e Diaphragm moves up, Ribs come down, Lungs shrink / STIWH SR 3I3d &, T S

¢ Diaphragm moves up, Ribs rise up, Lungs expand / STIWTH U 354 %:, T U Isdl %, ﬂmﬁ
Td oTd §

* Diaphragm flattens, Ribs rise up, Lungs shrink / SRIITH Iue gl S d %', Tl SHWR 3ol

Correct Answer :-Diaphragm flattens, Ribs rise up,Lungs expand / SWH IUc g o %',

19)

Question Stimulus :-

Sound waves are / @< 9% FT §?
®* Transverse / U
® Longitudinal / %Q'I‘I?I'\ﬂ'q
® Depends on the medium in which it travels / 39 HI%H Wﬁﬁ?ﬁ(ﬂ% forad a8 HTEITW‘:ﬁ%

* Can behave as both transverse and longitudinal / gFI 3V 3R SO & & § UM 31T
bl &
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Correct Answer :-Longitudinal / 3=iadig

20)
Question Stimulus :-

White light is composed of / AT YT 1 %
® 5 colours/5 &M A
e 7 colours/7'\i1ﬁ J
® 6 colours/ 61'"ﬁ ﬁ
® 4 colour /4T |

Correct Answer :-7 colours /7 ¥ q

21)

Question Stimulus :-

Find the measure of each exterior angle of an equilateral triangle. / T® JHdIg ﬁ‘lﬁra? TP

SIRT HIUT BT URHATIT J1d B
* 60°
e 90°
e 120°
e 150°
Correct Answer :-120°

22)

Question Stimulus :-

The plant that has both autotrophic and heterotrophic mode of nutrition is / ¥ oF#H

WA 3R WRUIT 31 Tivor 1 fger @

Pitcher plant / gequif
Venus trap plant / 931 ¢u tig

Sun dew plant / < S U9

All the above / SWRIad T+t
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Correct Answer :-All the above / 3uRIaT Tt

23)
Question Stimulus :-

Silk is a natural fibre made of / W—ﬁ AT Th D‘ITﬁIEF Hﬁ %
® Fat /99l
® Protein / W
® Cellulose /@ﬁ?ﬁ'\q
® Starch /E'I'_r-f

Correct Answer :-Protein / WA

24)

Question Stimulus :-

A mixture of 15 litres contains 20% alcohol and the rest water. If 3 litres of water be mixed in it, the percentage of alcohol in

the new mixture will be: / 15 eI & TP YU & 20% IR TF Y T §1 I IHA 3 e ur foreman
WY, d ¢ Ay & IR19 &1 yfawrdarn g smesl:

* 16%/3

° 17

* 18%

* 15
Correct Answer :-16%/,
25)

Question Stimulus :-

Lubricants such as oil, grease are smeared on moving parts of machines to /Tﬁﬁ' & dferd gTrﬁ: x| '@'5'7:5 o9 &
¥, fier i ova €, s

e Reduce friction / 90T H H1 & forw
® Increase friction / IYUT &I §¢M & fog
® Change friction from sliding to static / Tdur ®t It I Wfee § gga & fag

e Change friction from static to sliding / T901 & Rfd® ¥ Tdf & seaq &
(43)



Correct Answer :-Reduce friction / T4UI &H 34 & forg

26)

Question Stimulus :-

How is manure prepared ? / @T¢ &1 Y TR BT ST 82
® From the plant and animal remains/tﬁ‘éﬁ 3R MR & GI"TI:QTE q

Plant and animal wastes are collected in deep pits and it is allowed to decompose / tﬁiﬁ Gﬁ? \_rl'FIaﬁ ®

SUfT &7 e Td & T fvar wrar € ik 39 srvafed g feur a1 8
® From the garden wastes / T & m I
® Waste from houses is decomposed /‘ER.T I fFrea erqﬁrg & 3qUeH 9

Correct Answer :-Plant and animal wastes are collected in deep pits and it is allowed to decompose / tﬁ%ﬁ

3R STIERY & 3UfRY BT MeY T4 A JUg frar sirar 2 oiiv 39 erugfed g1 four sirar &

27)
Question Stimulus :-

Which one of the following cannot be an after effect of Earth quake? /g # 3
PIF YHU P IG BT YUTE 1 81 TPHdi?

° Lightning/?l'%_c[

® Flood /dle

® landslide / YA
® Tsunami /ﬁ:ITFﬁ

Correct Answer :-Lightning / 91Sq
28)
Question Stimulus :-

The perimeter of a sector of angle 60° of a circle with radius 10 cm is ./ 10

I BsuT g ga H 600 HIUT & AR BT URHY 3

e 2180/21 cm?/2180/21 AHY 2
e 2000/21 cm?2 / 2000/21 IH} 2

 2200/21 cm?/ 2200/21 Tt 2
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® 200 cm /200 9T 2
Correct Answer :-2200/21 cm?/ 2200/21 9Ht 2

29)
Question Stimulus :-

) ) 2t —40x+25=0
Determine k so that the equation

Y —40x+25 =0 .
wfteo ~ * | & I WIR &

Correct Answer :-8

30)
Question Stimulus :-

The perimeter and area of a square with side ‘a’ cm is

and

‘a’ 9t g farelt ol &1 ufum ofR v d HUgER 3R

gl

® ‘42’ cm and ‘a?’ cm? / ‘da’ I Gﬁ? sa2> QU 2

® <22’ cm and ‘a?’ em?/ ‘2a’ I+t Gﬁ? <2 J} 2

® ‘42’ cm and ‘a®’ cm / ‘42’ T 3T a2’ IS

e ‘a2'cm and ‘2a’ cm? / ‘a2 ‘34 3R ‘2a’ I+ 2

Correct Answer :-42’ cm and ‘a®> cm? / 42’ JHT 3T <a2> [} 2

(45)

, has equal roots / k AuiRa Fifow e

respectively / Yuil



